

$$a_n = \frac{1}{r} \quad 1, 2$$

$$a = \frac{1}{r}$$

$$q = 2$$

$$a_4 = aq^3 = \frac{1}{r} \times 8 = 8$$

$$a_{10} = aq^9 = \frac{1}{r} \times 512 = 512 \quad (\text{الف})$$

$$\frac{a_{10}}{a_4} = \frac{aq^9}{aq^3} = q^6 = 2^6 = 64 \quad (\text{ب})$$

$$512 \times 64 = \sqrt{1024} = 32$$

$$a_n = \frac{1}{r} \times 2^{n-1} = 128 \Rightarrow 2^n = 256 \Rightarrow n = 8$$

$$\frac{a^8}{a} = \frac{aq^7}{aq^5} = q^2 = \frac{99}{12} = 8.25 \Rightarrow q = 2.87$$

$$a \times 2^6 = 12$$

$$a = \frac{12}{64} = \frac{3}{16}$$

$$a_{10} = aq^9 = \frac{3}{16} \times 512 = 96$$

$$a_1 \times a_2 = a_3 \times a_4 = \dots = 9$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 243$$

$$a_1 \times a_2 = a_3 \times a_4$$

$$a_2 \times a_3 = a_4 \times a_5$$

$$a_3 \times a_4 \times a_5 \times a_6 \times a_7 = 243$$

$$(a_3 \times a_4)^2 = 243$$

$$a_3 \times a_4 = 15.588$$

$$\frac{a}{r} \sqrt{r} \frac{b}{r}$$

$$\sqrt{r} = \sqrt{r}$$

$$\frac{a+b}{r} = \frac{5}{r} = 2.5$$

$$\frac{a}{r} \times \frac{b}{r} = \sqrt{r} \times \sqrt{r}$$

$$\frac{a+b}{r} = 2.5 \Rightarrow a+b = 5$$

$$a_3 \times a_{11} = a_5 \times a_9$$

$$(x+1)(1-x) = x^2$$

$$x - x^2 + 1 = x^2 \Rightarrow -x^2 + 1 = x^2$$

$$2x^2 = 1$$

$$x^2 = \frac{1}{2}$$

$$x = \pm \frac{1}{\sqrt{2}} = \pm \frac{\sqrt{2}}{2}$$

$$a + aq^r = 11$$

$$aq + aq^r = 12$$

$$aq(1+q)$$

$$a(1+q^r) \rightarrow \frac{a(r+1)}{a-1} = 11$$

$$\frac{a(1+q^r)}{aq(1+q)} = \frac{(1+q)(1-q+q^r)}{q(1+q)} = \frac{11}{12} = \frac{1}{\frac{12}{11}} = \frac{1}{\frac{1}{12}}$$

$$1 + \frac{1}{\frac{1}{12}} = 13$$

$$13 - 12q + 12q^r = 12q$$

$$12q^r - 12q + 13 = 0$$

$$q^r - 10q + 9 = (q-1)(q-9)$$

$$q = \frac{9}{1} = 9$$

$$a + aq + aq^r = 13$$

$$a(1+q+q^r) = 13$$

$$a \times aq \times aq^r = 12$$

$$a^3 q^r = 12$$

$$(aq)^r = 12$$

$$aq = 12 \Rightarrow a = 9, q = \frac{1}{9}$$

$$\frac{13}{9} + 13 + 13q = 13$$

$$\frac{13}{9} + 13q = 0$$

$$13 + 13q^r = 10q$$

$$13q^r - 10q + 13 = 0$$

$$\Delta = b^2 - 4ac = 100 - 36 = 64$$

$$q = \frac{10 \pm \sqrt{64}}{13} = \Rightarrow q = 9$$

$$a_n = 2, 6, 18, \dots$$

$$a = 2$$

$$q = 3$$

$$S_{10} = x \left(\frac{r^{10} - 1}{r - 1} \right) = 3^{10} - 1 = 59048$$

$$a_{10} = 2 \times 3^9 = 118098$$

$$(a_1 \times a_{10})^5 = (2 \times 118098)^5 = (236196)^5 = (2 \times 118098)^5 = 2^5 \times 118098^5 = 32 \times 118098^5$$

$$a, aq, aq^r, aq^r, a(a-1), aq(a-1), aq^r(a-1), aq^r(a-1), \dots$$

$$(aq-a), (aq^r-aq), (aq^r-aq^r)$$

$$aq-a = a(q-1)$$

$$aq^r-aq = aq(q-1)$$

$$aq^r-aq^r = aq^r(q-1)$$

$$aq^n(q-1) = q^n$$

$$\frac{aq^n(q-1)}{aq^{n-1}(q-1)} = \frac{q^n}{q^{n-1}} = q$$

نسبت متناهی است

دنباله هندسی است، قدر نسبت آن q همان قدر نسبت متناهی خواهد بود

$$a, a+d, a+2d, \dots$$

$$S_n = a + (a+d) + (a+2d) + \dots + (a+(n-1)d)$$

$$S_n = (a+(n-1)d) + (a+(n-2)d) + \dots + a$$

$$2S_n = [a+a+(n-1)d] + [a+(a+(n-2)d)] + \dots + [a+a]$$

$$2S_n = n(2a+(n-1)d) \Rightarrow S_n = \frac{n}{2}(2a+(n-1)d)$$

$$S_n = a + aq + aq^r + aq^r + \dots + aq^{n-1}$$

$$qS_n = aq + aq^r + aq^r + \dots + aq^n$$

$$S_n - qS_n = (a + aq + aq^r + \dots + aq^{n-1}) - (aq + aq^r + \dots + aq^n)$$

$$S_n - qS_n = a - aq^n$$

$$S_n(1-q) = a(1-q^n)$$

$$S_n = \frac{a(1-q^n)}{(1-q)} \quad q \neq 1 \quad \frac{a(q^n-1)}{q-1}$$